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12000, and sellingit fof&^f^f ^
^^ ^ing a h^e S

4^500, and selling it for «4^ft ^.^^^^S » lot of land fo^
and selling it atW a bfshd bv bT""

"'"* '^^ ^^^ ^ ^-^el
«ellmg it at »6.60 a ton ? bywL ^''J^

'°"^ "' «« ^ *°°> and
selling them at 40/ a Ik ? w7 "^^^"^ "* ^^^ ^ ^^l»el and
and sdling it at 4> a ^l '^ ''^^^^^ ^"^ at 10/ a giTn,

a I buV^itToVICeT '2 ",f•:
^^^^ *--«-•

' '"^'^^ ^^ ««" it at 90/ a bushel.

? == selling price.

__L_=cost.
? =gai„ = ?„,^. ^__^^^^

^«ie same way analyze .•

«/ on a bnshel. What if L"^!''
""* «" '"em at a p„st of

,
»• I buy 860 lb. of suZ at «S^ f'/'" '

of kerosene (42 gal) K, L* * * ''""dredweight, and a barrel-d tie kerolene'at\o;a*^;„.'l°"'.*! '"«« " «^ a p3
"VbT '^'' "" *» k'^ene

^°'"' '"^ P^'eentofg^'

»• H I sell i of n,y fe™ !
""*''« t*' «»' of gain ?

""

» the per cent ofS'"™
'"' "-' "" ""ole farn. o^t n.e, what

at aVrotS',8in„°Ll" '";;^°/ '-' '- »3000, ana so,d it
M- Cloth costing 85/ ay^^t T."/ «^"' I»' «««" '

at a reduction of |, t;
*^^J^ ""''^.'' «1<)S. and it was sold

percent? " tne marked pMe. What was the gain


